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The roots of the quadratic equation PYQ - 2024 - II
a?(b? - c?)x? +b2(c® —a?)x +c*(@® - b?) =0 D=0
are equal (@2 % b? = c?). BZ- 40¢ = 0

Which one of the following statements 1

2 X 0 2 2 2
is correct? [bz (C-‘dz)] - v?a‘(b -C)C(Q -'L] =)
(@) a?, b2, ¢? are in AP.

(b) a?, b?, c? are in GP. éb[ca'a")z - 4a*ct (AZ'CZ) (dz-#) =0

(c) a2, b2, ¢? are in HP.

é‘lcé ¥ 67«9,‘267614" _ 4“262(6201- LV__ azcz
16"’(,")
N AL LA VAN A S P} Jath'c + 40 _gatets’

(d) a?, b2, c? are neither in AP nor
in GP nor in HP.
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B1e + b1a” —287ctat _ pat8et 4 atb'et 1YY qatets" = 0
\//

‘:) éch+ éy_q','f' vacla’- — 46!“:262 -[-Jla’clf_qa"cqél ':o

-.______-——'

/ (a+b+c]2

-T) (Lacz+61a1_ O?azc’)l .,

W = 05464+ d0bt 2be 4 2ea

=

L 2 L Y
bt + 4%t — Qalet =0 ‘/__/_..+l Ny

L c* L
L2 L2 = 240" [ @ b o
S U= i ¢t are In HP
Df "d é GQLI v e 2 W
viae - of ¢, )
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The roots of the quadratic equation
PYQ-2024-1I

a?(b? - c®)x? +b2%(c® -a®)x+c?(@? -b%)=0

Which one of the following is a root of o? A
the equation? f——/-’

A 4 Bx + ¢ =

are equal (a? # b2 # c?). for equ/ waﬁ/ A~ - B

a?(c? - b?) - [— 6 (cz-al)
2 L
. b2(c2 - a?) 976 ([, -t
a?(b? - c?)
2( 2
2a?(c? - b?)
Jaa.('cz_ Lz)
bQ(c2 —a2)
(d)

202(1)2 —c2)

(=]
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The product of S consecutive terms of an AP
is 229635. The first, second and fifth terms PYQ - 2024 - I
are in GP,

What is the common difference?

@ 3 0-3f a-d o a+d  arad
(b) 4

c) 5 ) / jﬁ
(@) 6 Plis 4"4 2

t, 1 t 1,2 id = 20
- 444 = 4 -4H{
d’- 3ud (a’=.:?_f_, 3 a
d* + 44* = dod 5
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0- 44 a-4 «a a+d a+3d

G TOT T
4 Moo oy 9
3 | g 3 4
(i)(%i) (—ii) (_?l) (%i) = i35
5. BT L s
y 1y 83474 d5 = 3° %2
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The product of 5 consecutive terms of an AP
1s 229635. The first, second and fifth terms PYQ - 2024 - i
are in GP,

What is the sum of all five terms?

(a) 60 :?- T a? q
65

® 1(”“5{-%;7

(c) 75 q

g 6 y25 = 3x25 =@
q
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Q) After paying 30 out of 40 installments of a debt of Rs. 3600,
one third ot the debt 1s unpaid. Ifthe mstallments are forming
an arithmetic series, then what is the first instalment?

(@) Rs50 (b) Rs51 - W -

(©) Rs105 (d) Rs110

0 - R _ o 75
pod = —‘?3—(3609 - %0 = 30 /nstallmen

3600 = 4o 4p - )
n=30 ; az=? 4:7 8, 2000 —;("“(”’)4

/

2900 = (,?a + (gp_;)d) g - da+ 394 — (2)

l6o = dat+ 29y — (1)
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From (1) and (2),
a + J94 = (6o
{o + 394 = /8o

(-) —
Iﬂc/ = 40
=3
,?a = /02 '
da = f60 - o?q({ Hrel-

m intfall menF
da = (60 __”('2) -~ [6o — 5§ = /02 ‘ o N)U)*

-
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Q) After paying 30 out of 40 installments of a debt of Rs. 3600,
one third ot the debt 1s unpaid. Ifthe mstallments are forming
an arithmetic series, then what is the first instalment?

(@ Rs50 (b) Rs3l
(¢) Rs105 (d) Rs110

Ans: (b)
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Q)If the sum of ‘»’ terms of an arithmetic progression is
n? —2n, then what is the »* term?

@) 3n-—n? (b) 2n-3

(c) 2n+3 (d) 2n-5 (d) a’ - a-= 3_(,)1: 2 0f
S, = - 4y (6) 6, =a= 3()-3 =-1 /
S - QA = (I)z-" 3(’) - —,

vl

(c) 4 za=300%3 =54

(4) a za= 30)-5 >34

n-1) " - a(n-:)] - "2--?n—(n"+l—an—4n+a)
= oh -9 — 66) v
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Q)If the sum of ‘»’ terms of an arithmetic progression is
n? —2n, then what is the »* term?
@) 3n—n? (b) 2n-3
(c) 2n+3 (d) 2n-5

Ans: (b)
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Q) What 1s sum to the 100 terms of the series
9+99+999+ .7

(2) ?(10100—1)—100 (b) %(1099—1)—100

© 100(1001°-1)  (d) %(10100_1)

(0-1) + (n'-1) + (10*-1) + .
Gp |
(I:wlf/ogwt R lvm) — (I+I+I+ (100 ﬁmd)

= /b ((M)Ioo_,)4 — /o0 - l?_(/o”o-l) _ 100
T, 1
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(=)

EEEEE

Q) What 1s sum to the 100 terms of the series
9+99+999+..?

(a) %(10100_1)—100 (b) %(1099 _1)_100
(© 100(1001°-1)  (d) %(10100_1)

Ans: (a)
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Q) Ifthe sum of the first two terms and the sum of'the first four
terms of a geometric progression with positive common ratio
are 8 and 80 respectively, then what is the 6th term?

— a7
@) 88 (b) 243
(c) 486 (d) 1458
Qa+ ar =4 @+ ar+art +av’ = g0
3 .2
r'tr =fr-9 =90
a(”_r);g a.(r+r+r"+r-”) = £0 4'
? ,r:—//(me () #e
A - [rrevter® = /O(H-r) ‘r

TG‘/.U’,&{
[tr F\/\p”l )
— “fr=9 4w =»)
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-1 .
'r+lj"3" - -9 .
r}/t oyl L
R (v43) (r-3)
—9r -
; 7 r- 3 -3
0 e
2= 8 (% dewm
[+7 -
ar” 2 a(3)7= ax2m8 > 486
R
* s = (5= 314 )
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Q) Ifthe sum of the first two terms and the sum of'the first four
terms of a geometric progression with positive common ratio
are 8 and 80 respectively, then what is the 6th term?

(a) &3 (b) 243
(c) 436 (d) 1458

Ans: (c)
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Q)Ifx?, 32, z2 are in AP, then y +z, z+x, x + y are in
(@ AP (b) HP
(c) GP (d) None of these

73)1 v Yererse

(o) dfz, X+, Zf()f dre M AP
I(112) - (dfz)+ 2t A
T+K = o?d(

x‘,J‘ ¢ 7*

1*t 24+ Q27 = K/Oy’- |
are nof m AP
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(4) R

o+
L+ 1+d #"_Z

——

() (o) = (144 +2) ()
%ﬂz/fuou 7;%:},{”” 4 Z*%le*%

o?dl' = z".f. z’—

> 4
A7
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Q)Ifx?, 32, z2 are in AP, then y +z, z+x, x + y are in
(@ AP (b) HP
(c) GP (d) None of these

Ans: (b)
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Q) What is the value of
1—-24+3—-—4+5—...... + 1017
(a) 51 (b) 55
() 110 (d) 111

(/13+5+,,. or) — af1+a+s+ . 5)

)

= (51)* - 50[51)

(51)" — 4_59_(_5_{)_

5*/(51—-5‘0) :@
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Q) What is the value

1—24+3—445—.....+101?
(a) 51 (b) 55
(c) 110 (d) 111

Ans: (a)

of
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Q)If b, b,, by are three consecutive terms of an arithmetic
progression with common difference d > 0, then what isthe

value of d for which b% =b,yby +bjd+2?

1

(a) ) (b) 0
©) 1 d 2
by - a-4 (arqy = alarq) + (a-4)d +3
b, -
a Prtvr = frpd 1 ot -2
bg:q{'d
423‘2:7\511’-:’! :7<o(=/ior-/
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Q)If b, b,, by are three consecutive terms of an arithmetic
progression with common difference d > 0, then what isthe

value of d for which b% =b,yby +bjd+2?

1

(a) 5 b) 0

© 1 d 2

Ans: (c)
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Q)If1, x, vy, z, 16 are in geometric progression, then what is the

valueof x +y+z?
(@) 8 (b) 12
(c) 14 d 16
Q=]
X +0’ + Z
- ar ! _ -
[6 = ar :41'1{7"! (‘?)'f"/‘f’(g)
y .
ri=1 - @ _ @
P = or Y=-2 7
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Q)If1, x, vy, z, 16 are in geometric progression, then what is the

valueof x +y+z?
(@) 3 (b) 12
(c) 14 (d) 16

Ans: (c)



NDA 12025 - REVISION - LIVE CLASS

Q) Which one of the following is correct?

1 1 1 1
If + =—+—, thena, b, carein
b—-c b—-a a c

(@) AP (b) HP
(¢c) GP . (d) None of these
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Q) Which one of the following is correct?
1 1 1 1

If + =—+—, thena, b, carein
b—-c b—-a a c
(@) AP (b) HP
(¢c) GP _ (d) None of these

Ans: (b)
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Q)If4,B and Carein APand b: c= /3 : /2 ,then what is the
value of sin C?

1
@ 1 ®) 5

51

© /3 (d)
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Q)If4,B and Carein APand b: c= /3 : /2 ,then what is the
value of sin C?

1
@ 1 ®) 5

51

© /3 (d)

Ans: (d)
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Q)Ifthe AM and GM between twonumber are in the ratio m : »,

then what 1s the ratio between the two numbers?

\/ 2 2
m+Afm —n 1+ 1
(a) (b)
m—\/mz —n? R
mz—ﬁg m2+4£-—mn
© "~ 2 2 (d)

2 2
m- +n m- +n- +mn

EXAMS
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EXAMS

Q)Ifthe AM and GM between twonumber are in the ratio m : »,
then what 1s the ratio between the two numbers?

\/ 2 2
m+Afm —n 1+ 1
(a) (b)
m—\/mz —n? R
mz — n2 mz + n2 —mn
C d
(©) m'2 +n2 (@) m2 - nz + mn

Ans: (a)
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Q) The arithmeticmean of two numbers exceeds their geometric
mean by 2 and the geometric mean exceeds their harmonic
mean by 1.6. What are the two numbers?

(@) 16,4 (b) 81,9 o
(c) 256,16 (d) 625,25
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Q) The arithmeticmean of two numbers exceeds their geometric

mean by 2 and the geometric mean exceeds their harmonic
mean by 1.6. What are the two numbers?

@) 16,4 ®) 81,9
© 256,16 (d) 625,25

Ans: (a)
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EEEEE

1 1
Q)Whatisthesu1nof\/§+\/§+3\/§+ ..... 2
2+/3
© Tf @ 3
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1 1
Q)Whatisthesulnof\/g+\/§+3\/§+ ..... 2
V3 33
2+/3
©) T\f @ B

Ans: (b)
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1 1 1 1

Q)If + =—+— thena, b, carein

b—a b—-c a c
(a) AP
(c) HP

(b) GP
(d) None of these
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1 1 1 1

Q)If + =—+— thena, b, carein

b—a b—-c a c
(a) AP
(c) HP

Ans: (c)

(b) GP
(d) None of these
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Q) Which one of the following options is correct?
() sin?30°, sin?45°, sin? 60° are in GP
(b) cos? 30°, cos? 45°, cos? 60° are in GP
(¢) cot?30°, cot? 45°, cot® 60° are in GP
) tan?30°, tan?45°, tan? 60° are in GP
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Q) Which one of the following options is correct?
() sin?30°, sin?45°, sin? 60° are in GP
(b) cos? 30°, cos? 45°, cos? 60° are in GP
(¢) cot?30°, cot? 45°, cot® 60° are in GP
) tan?30°, tan?45°, tan? 60° are in GP

Ans: (d)
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Q)What 1s the 10th common term between the series
2+6+10+....and1+6+11+....°7
(@) 180 (b) 186
(c) 196 (d) 206
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Q)What 1s the 10th common term between the series
2+6+10+....and1+6+11+....°7
(@) 180 (b) 186
(c) 196 (d) 206

Ans: (b)



NDA 12025 - REVISION - LIVE CLASS

Q) If the AM and HM of two numbers are 27 and 12 respectively,
then what 1s therr GM equal to?

() 12 (b) 18
c 24 @) 27
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Q) If the AM and HM of two numbers are 27 and 12 respectively,
then what 1s therr GM equal to?

() 12 (b) 18
c 24 @) 27

Ans: (b)
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1 1 3
Q) Which term of the sequence 20, 192, 185, 172,--. is the

first negative term?
(@) 27th (b) 28th
(¢) 2%9th (d) Nosuch term exists
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1 1 3
Q) Which term of the sequence 20, 192, 185, 172,--. is the

first negative term?
(@) 27th (b) 28th
(¢) 2%9th (d) Nosuch term exists

Ans: (b)
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Q)If the sequence {S } 1s a geometric progression and

S, S = Sp S, then what 1s the value of p?

@ 1 (b) 3

© 5 (d) cannot be determined
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Q)If the sequence {S } 1s a geometric progression and
S, S = Sp S, then what 1s the value of p?

@ 1 (b) 3

© 5 (d) cannot be determined

Ans: (c)



NDA 12025 - REVISION - LIVE CLASS

DIRECTIONS . : For the next two (02) Questions
that follow:

The sum of first 10 terms and 20 terms of an AP are 120 and 440
respectively.
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Q)What 1s its first term?
(@) 2
(c) 4
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Q)What 1s its first term?
(@) 2
(c) 4

Ans: (b)

,H_'H\
ec

o W
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Q)What 1s the common difference?

(@ 1 (b) 2
) 3 (d) 4
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Q)What 1s the common difference?

(@ 1 (b) 2
c) 3 (d) 4

Ans: (b)
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Q) What 1s the number of diagonals which can be drawn by
joining the angular points of a polygon of 100 sides?
(@) 4850 (b) 4950
(c) 5000 (d) 10000
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(@]

EEEEE

Q) What 1s the number of diagonals which can be drawn by
joining the angular points of a polygon of 100 sides?
(@) 4850 (b) 4950
(c) 5000 (d) 10000

Ans: (a)



NDA 12025 - REVISION - LIVE CLASS

Q)What is the geometric mean of the sequence 1,2, 4, 8, ...
219
(a) 211/2 (b) 2(11 +1)/2
(c) 2@+ _ (d) 2@-1
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Q)What is the geometric mean of the sequence 1,2, 4, 8, ...

219
(a) 2n/2 (b) 2(11 +1)/2
(¢) 2m+1) _ g (d) 2(n -1)

Ans: (a)
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Q) The harmonic mean H of two numbers 1s 4 and the arithmetic
mean A and geometric mean G satisfy the equation
2A + G2 =27. The two numbers are

@ 6,3 ) 9,5
© 12,7 d) 3,1
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EEEEE

Q) The harmonic mean H of two numbers 1s 4 and the arithmetic
mean A and geometric mean G satisfy the equation
2A + G2 =27. The two numbers are

@ 6,3 (b) 9,5
(C) 12,7 (d) 331

Ans: (a)
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